Latin Perfect Active Indicative

v vVZVITCzZzHdvCoOoo0o0or<go- c- <

N H 0N —ZVv<L< rr<mZ20-—0-—wnw4H~NI
o4 o00>»r  nCc<—CO0OO0OQOQOQ -

ID ESSE

T? ESSE

ID POSSE

ID LEGERE
N?S ?RE

ID DOC?RE
EGO LEGERE
ID VENDERE
E? IUV?RE
EGO IUV?RE
EGO VEN?RE
N?S AM?RE
V?S IUV?RE
V?S DOC?RE
EGO APER?RE
N?S IUV?RE
EA (THEY N.) IUV?RE

N Y 4 O I

O numw-——nmn-cCcooomcoz—0IT 1OT>X
I — 49 < 4 < 0n 0w d10<< — —< vV>r2> N

> C ——I—@0O——0nv<I Vv 4HdNBOWC

W C—>»r-42-—-—-480CC —

VN0 < CC —
ECEEN - ?))
NN — = 2 W0 W;m

V- 4 << OD - -
4> ———-—TJT A —-—MOXZWVWIUI™DWDCC-—

cCmmTmwm®2Z2vyvCunnmzXR——
O>rT 0N LWL V— X -« wnw —

— ot CHCCwnwz<<O —

ID ?RE

EGO ESSE

V?S ?RE

N?S ESSE

V?S ESSE

ID IUV?RE

ID VEN?RE

EGO AM?RE
EGO DOC?RE

T? VEN?RE

T? HAB?RE

T? IUV?RE

N?S VENDERE
V?S HAB?RE

T? APER?RE

EA (THEY N.) ?RE
EA (THEY N.) VEN?RE
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T? ?RE

EGO ?RE
EGO POSSE
ID AM?RE
V?S POSSE
ID HAB?RE
T? LEGERE
N?S LEGERE
V?S AM?RE
EGO HAB?RE
T? VENDERE
N?S DOC?RE
N?S HAB?RE
N?S VEN?RE
V?S VEN?RE
EA (THEY N.) HAB?RE
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